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FRM FirsT REVISION Test -2024 Time : 3.00 Hys
10 - STD MATHS \Lukt. 100

I Part I Choose the correct answer from the four alternataves and write the
option code and the corresponding answer. 14 X 1 = 14

1. A={abp}B=1{23)C={p, q,rsk then n[(4wUC)XB] is a) 8 b 20 )Y 1286).16
2. If i 4 Bls a bijective function and.if n(B) = 7 then.n(A) is equal to

a) 49 b) 7 V] d) 14
: B (mod 100) a) 1 b) 2 c) 3 d) 4
4. If 6 times of 6" term of an A.Pis equal to 7 times then 7' term then the 13% term of
the A.P. is
a) 0 b) 6 )7 d) 13
Ry IF (RO)ISIHCIR af 00 - 250 22 arid o L Tt 6 then the value of k is
a) 3 b) 5 c) 6 d) 8
6. The solution of (2x- 1)? = 9 is equal to '
a) -1 b) 2 c) (-1,2) - d) none of these

If number of column and rows are not equal in a matrix then it is said to be a
a) diagonal matrix b) rectangular matrix C) square matrix  d) Identity matrix
8. Ifis A4BC, DE [| BCAB =3.6cm AC=2.4cmandAD = 2.1 cm then the length of

AE is a) 1.4 cm b)'1.8 cm c)y 1.2%em™.. - d)1,05'em
9.  The lengths of the two tangents drawn from .............. point to a circle are equal,
a) an interior b) an exterior ETOH Ty d) none of these
10. The area of triangle formed by the points (-5, 0) (0, -5) and (5, 0) is
a) 0 sq. units b) 25 sq. units ¢) 5 sq. units d) 15 sq. units
| 11, The slope of the line joining (12, 3) (4,a) is %. The value of ‘a’is
a)4 b) -5 o) B iy d) 1
; 12. secO=cosecd If gis . :
- a) 300 b) 60° c) 45° d) 90° '
. 13. The height of a right circular cone whose radius is 5cm and slant height is 13cm will
! be . a) 25 cm b) 10 cm c)12cm d)5cm
. 14. If the standard deviation of X, ¥, z is p then the standard deviation of 3x .5,
| 3y +5,3z2+5isa)3p+5 b) 3p ' c)p+5 d)9p+5

- II _Part-II Answer any 10 questions. Q.No. 28 is compulsory.
| 1X7A = {1,2,3}, B = {x/x is a prime number less than 8} ﬂnd AXBandB
i |

|

16. Find the number of terms in the A.P. 3,6,9, ;LZ Sopentettsimimer L1,
17. Compute X, such that 104 ==x (mod E) P\ i - P
. 18. Find the L.C.M of the expressions p?- 3p+2, p2-4 ; G :
~19. Determine the nature of roots for the quadratic equation X2 - ¥ o 0
207 Construct'a 3 X 3 matrix whose elements are given by a_ = [j- 2l -
217' Find the length of the tangent drawn from a pomt whosg gnstance fmm the centre of
: a circle is 5cm and radius of the circle is o clo AR \
22, Show that the polnts P(-1.5,.3) Q(6 2) R( -3, 4) are co!linean .
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